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Question Number : 1 Question Id : 9735971162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following coordinates the operations of the hardware for execution of data and instructions?

Options:
1 ® ALU

- w Inputdevice

= « Control Unit

4 % Output device

Question Number : 1 Question Id : 9735971162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 2 Question Id : 9735971163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following generally has highest processing power and number of users support?

Options:
w Minicomputers

1
» % Microcomputers

=  Supercomputers

4 % Mainframe computers

Question Number : 2 Question Id : 9735971163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 3 Question Id : 9735971164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In QWERTY kevboards. the key corresponding to ‘Q’ appears as the:
Options:

| « First key of the first line of the alphabetic keys

-~ » Last key of the first line of the alphabetic keys
o » Firstkey of the last line of the alphabetic keys

4, = Lastkey of the last line of the alphabetic keys

Question Number : 3 Question Id : 9735971164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 4 Question Id : 9735971165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Data stored on DRAM needs continuous refreshing as it uses:

Options:
1 % Transistors

- % Diodes

5 w Flip-flops

4 Capacitors

Question Number : 4 Question Id : 9735971165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 5 Question Id : 9735971166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is very much similar to flash memory?

Options:
i # ROM

> % PROM
= » EPROM

4 v EEPROM

Question Number : 5 Question Id : 9735971166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ﬁﬁﬁﬁtﬂﬁﬂwﬁﬂﬁﬁﬂ#agd =OTeT AT giar 87

Options:




4.@"%

Question Number : 6 Question Id : 9735971167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The full-form of USB is:
Options:

, w» Unique Service Bus

- % Universal Service Bus
s % Unique Serial Bus

4 « Universal Serial Bus

Question Number : 6 Question Id : 9735971167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
JUHST & qOT AT g
Options:

| T wEw
.« Tede wlew T8
L Tl WREE T8

, o v dRTe 57

Question Number : 7 Question Id : 9735971168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) Cordless mouse transmits data via infrared radiation or radio signal.
1) A computer mouse can’t work without a mouse pad.



Options:
; % I- False. II - True

>  1-True, II - False

- % I- False. II - False

4 % I-True, Il - True

Question Number : 7 Question Id : 9735971168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 8 Question Id : 9735971169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

SET-1 SET-2
I) Track A) Collection of identical tracks of multiple surfaces
IT) Sector B) Circular section of a disk
IIT) Cylinder C) Portion of a track
Options:
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. % I-AII-C.II-B



Question Number : 8 Question Id : 9735971169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 9 Question Id : 9735971170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following category of programming language is easily understandable/readable by human?

Options:
; w» Machine language

5 w Assembly language

5 » Low-level language

4  High-level language

Question Number : 9 Question Id : 9735971170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 10 Question Id : 9735971171 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is NOT a valid version of Windows operating system?
Options:

1 # Windows Vista

5> « Windows 6
= % Windows 7

4 ® Windows 10

Question Number : 10 Question Id : 9735971171 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 11 Question Id : 9735971172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following was developed by the Microsoft?

Options:
1 ® Cand C++
> % COBOL

3 % Pascal

4 « DirectX

Question Number : 11 Question Id : 9735971172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Options:
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Question Number : 12 Question Id : 9735971173 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a free text and source code editor?

Options:
1% CH

- % MS-Word
3 # DirectX

4  Notepad++

Question Number : 12 Question Id : 9735971173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
% G+

- # MS-Word
2 # DirectX

4,  Notepad++

Question Number : 13 Question Id : 9735971174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Total number of addressable memory blocks using 10-bits address lines is:

Options:



Question Number : 13 Question Id : 9735971174 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

| % 1023
-« 1024
2 = 2047

. % 2048

Question Number : 14 Question Id : 9735971175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The sum of 4352 Kilobytes and 0.25 Megabytes is:
Options:

; w 1.5 Megabytes

> # 2.5 Megabytes

5 # 3.75 Megabytes

4« 4.5 Megabytes

Question Number : 14 Question Id : 9735971175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 15 Question Id : 9735971176 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a valid Boot option for the BIOS?

Options:
1 ® Network

> # Hard Disk Drive
3z # CD Drive

4 « RAM

Question Number : 15 Question Id : 9735971176 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 16 Question Id : 9735971177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the fallowing is performed during boot process [o ensure thal all primary devices the computer will rely on are
functioning properly”
Options:
1 « Power-on Self-test

- % Virus checking



- » Disk defragmentation

4 # Disk cleaning

Question Number : 16 Question Id : 9735971177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 17 Question Id : 9735971178 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The first octet higher order bit for Class-D IP address is:

Options:
;. % 110

> % 1111
3 « 1110

4 % 1010

Question Number : 17 Question Id : 9735971178 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. % 110

> % 1111

2 « 1110



. % 1010

Question Number : 18 Question Id : 9735971179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a Class-C IP address?

Options:
1 % 11110101.10101010.01010101.00001111

- % 11101101.11101110.01010101.01001101
= % 10110101.11101010.01110101.00101011

4 » 11010101.10101010.01010101.00001111

Question Number : 18 Question Id : 9735971179 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
fr=faf@g & ¥ 37 = Form-C a3mdr w27

Options:

1 # 11110101.10101010.01010101.00001111
> % 11101101.11101110.01010101.01001101
z % 10110101.11101010.01110101.00101011

4 + 11010101.10101010.01010101.00001111

Question Number : 19 Question Id : 9735971180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) Patch iz a small piece of software. which is used to correct bug within a software program.
1) A service pack is an update that makes Windows more reliable.

Options:
; & I-Tre, TI- False
> « 1-Tre, II - True

5 % 1-False II - True

4 % 1-False II - False



Question Number : 19 Question Id : 9735971180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 20 Question Id : 9735971181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

SET-1 SET-2
I) 221.10.10.5 A) Class-B IP address
Iy 110:50.11.5 B) Class-A IP address
IIT) 130.100.10.1 C) Class-C IP address

Options:
. I-C.II-B.II-A

, « [-C.II-AI-B
5« [-B.II-C,II-A

4 % I-B.II-ATI-C

Question Number : 20 Question Id : 9735971181 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 21 Question Id : 9735971182 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT an antivirus?

Options:
, % AVG Internet security

- » Avira Internet security

5 « AV Internet security

4 % Windows defender

Question Number : 21 Question Id : 9735971182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 22 Question Id : 9735971183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
With respect to security. AES stands for:

Options:
| « Advanced Encryption Standard

- u Asynchronous Encryption Standard
- % Asynchronous Encryption Schema

4, % Advanced Encryption Schema

Question Number : 22 Question Id : 9735971183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 23 Question Id : 9735971184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The DES is a (n) algorithm for the encryption of electronic data.

Options:
, % Asymmetric cryptography

-  Symmetric cryptography
- » Public-key cryptography

4, » Data hiding



Question Number : 23 Question Id : 9735971184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 24 Question Id : 9735971185 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following Windows utility is used to create or delete partitions, or initialize a new disk?

Options:
1 % Event Viewer

> % Task Scheduler

-  Disk Manager

, » Registry Editor

Question Number : 24 Question Id : 9735971185 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 25 Question Id : 9735971186 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is a Windows feature that allows the user to revert their computer's state to that of a previous
point in time?

Options:

, % System backup

- » Disk defragmentation

2 o System restore

, # Disk cleaning

Question Number : 25 Question Id : 9735971186 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 26 Question Id : 9735971187 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) In Safe mode, Windows starts with a maximal set of drivers and services.
1) Worms are programs that replicate themselves without the use of a host file.

Options:
| % I- True, II - True
> % 1-True, II-False

5  1-False, II - True

4 % 1-False II - False



Question Number : 26 Question Id : 9735971187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 27 Question Id : 9735971188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following category of files are already highly compressed?

Options:
1 % .DOC
> % .DOCX

s « JPEG

i TXT

Question Number : 27 Question Id : 9735971188 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 28 Question Id : 9735971189 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following statements is false?

Options:

, w» Anencrypted file can be compressed.

- » Compressed files require less storage space.
- » Compressed files can be transferred more quickly than uncompressed files.

4  -JPEG file can’t be compressed (zipped).

Question Number : 28 Question Id : 9735971189 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 29 Question Id : 9735971190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following file system was introduced with first version of Windows NT?

Options:
, & FATI2
> % FAT16

2 % FAT32

4 « NTFS

Question Number : 29 Question Id : 9735971190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



TefRE 7 ¥ & vEa fwes & &= NT F 98 50T & 91 9&1iag & 7ar or?
Options:

. % FAT12
., » FAT16
- = FAT32

4 « NTFS

Question Number : 30 Question Id : 9735971191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following DOS command displays or changes file attributes?

Options:
| « ATTRIB
~ % ATTRIBUTES

s % ATTRIBUTE

4 % ATTR

Question Number : 30 Question Id : 9735971191 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
@ & @ #i7 @ DOS Fas wEd Uieede FF T Far § YT 38 eordr §7

Options:

. v ATTRIB
., » ATTRIBUTES
. # ATTRIBUTE

. = ATTR

Question Number : 31 Question Id : 9735971192 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



Match the following.

SET-1 SET-2
I) Single dot (.) A)) Parent directory
IT) Double dots (..) B) Root directory
IIT) Back slash or forward slash C) Current directory

Options:
. % I-B.II-AII-C

, « [-B.II-C,II-A
5 v [-C.II-AII-B

, % [-C.II-B,II-A

Question Number : 31 Question Id : 9735971192 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 32 Question Id : 9735971193 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
State whether True or False.

i A folder comtaming both fles and subfolders can be zipped (compressed).
I} Zipping {compressing) JPEG files will not reduce much size. as such files are already highly compressed.
Options:

1 « I-Tre, II-True



> % 1-Tre, TI- False

z % I- False. II - True

4 % 1-False II - False

Question Number : 32 Question Id : 9735971193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 33 Question Id : 9735971194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is used to replace a set of characters with another set of characters in a document?
Options:
, « Find and Replace

> # Cut and Paste

- % Copy and Paste

4 % Copy and Save

Question Number : 33 Question Id : 9735971194 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Bl SR & FUi ¥ Us HE F R gt 9T ¥ sged ¥ v Reteiee 7 8 Bee s B
ST 2

Options:



v TEs 3R frem
gﬁﬁmm

Question Number : 34 Question Id : 9735971195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Customized texts that the word processor puts at the bottom of every page of a document is called:

Options:
1 & Footer
-~ % Footnote

5 » Running text

4 % Endnote

Question Number : 34 Question Id : 9735971195 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

FICAZSS cFee 8 I3 W8T SEgAT & Yods U & feleel 87T 9T STedT g, 3% &gl A &

Options:

1.9 2

FeAlT

o #® 2

Question Number : 35 Question Id : 9735971196 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In MS-Word, short-cut key to double underline selected texts is:

Options:
1 ® At+D



> # Alt+Cul+D
z % Ctl+D

4 « Ctrl+ Shift + D

Question Number : 35 Question Id : 9735971196 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
TATH-8 H, TAAT SFFC F ST {WHaT e S M- Holl e

Options:

. % Alt + D

» % Alt + Ctrl + D
2 % Cil + D

4 v Ctrl + Shift + D

Question Number : 36 Question Id : 9735971197 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In MS-Word, short-cut key to insert Page Break is:

Options:
1 % Alt + Ctrl+ Enter

-

o,

> « Ctrl + Enter

Ctrl +B

Ly
®

Ctrl + Shift + B

o
u

Question Number : 36 Question Id : 9735971197 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
UATH-I5 #, O % SHE HA I oAC-FHe Fol g

Options:

1 % Alt + Ctrl+ Enter
> « Cirl + Enter

2 % Ctrl + B



. = Ctrl + Shift + B

Question Number : 37 Question Id : 9735971198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In MS-Word., if the font size of a text is 36 pt. then it is roughly equivalent to:

Options:
1 « 0.5Inch

> % 0.75 Inch
3 % 1.25Inch

4 #® 1.5 Inch

Question Number : 37 Question Id : 9735971198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

THAUE-I5 H, Tfe TFEC FT Biec TS 36 pt g7 aF TZ 7T ST a6 2l &

Options:

, o 05 B
, « 0.75
. x 1.25 &9

L% 1B &

Question Number : 38 Question Id : 9735971199 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) In MS-Word, pressing Ctrl — H activates the Replace tab of “Find and Replace™ window.

IT) In landscape mode. a page or image looks taller than it is wide.

Options:
1 « I-Tme, II-False

> % I-True, II - True

- % I- False. II - True



4 % 1-False II - False

Question Number : 38 Question Id : 9735971199 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Hcd O1 HHcH $Yd ddisq|

) THTE-gE #, Ctrl + H g8« ¥ “Find and Replace” f32r & Replace &8 wfFT g =mar gl
Il) ¥==FT Az &, v 97 M 53T 39 A= T o e E

Options:

Lo |- T, Il - HET
o | -FeF, Il - T
o w | - 3T, |l - T
, ow | - ¥EE, Il - 3T

Question Number : 39 Question Id : 9735971200 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following errors occurs when a number is divided by zero?

Options:
|« HDIV/O!
5 % M

s % #NAME?

4 % #VALUE!

Question Number : 39 Question Id : 9735971200 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
el T 1 T @ e e W PefaRe § § #F @ IR w2

Options:

|« #DIV/O!
o w HEHHHE

- = #NAME?



. % #VALUE!

Question Number : 40 Question Id : 9735971201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The address of the Excel cell at the intersection of 13™ row and 20™ column is:
Options:
1 #® S13

> % 138
s % 13T

i o TI3

Question Number : 40 Question Id : 9735971201 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
139 T 3T 203 #F1a7 & JS W T8d O & 97 &

Options:

. % S13

, % 13S
> = 13T

4« T13

Question Number : 41 Question Id : 9735971202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The number of cells in the cell range E4:K9 1s:
Options:

1 42

o> R 14

Question Number : 41 Question Id : 9735971202 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



¥ I E4K9 # T B HT & &
Options:

o ® 14
o ® 41

g4 ® 24

Question Number : 42 Question Id : 9735971203 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following category of Excel chart is also called XY-chart?

Options:
1 « Scatter chart

> % Bar chart
= % Pie chart

4 % Area chart

Question Number : 42 Question Id : 9735971203 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
=g 7 o Fw Avh & vads o & tga-as =91 off FIr J1ar 87

Options:

1;ﬁm€ﬂéf

o B EﬂTEﬁ‘
o

4 ® Qﬁ_qriﬂé-

Question Number : 43 Question Id : 9735971204 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is a valid mixed cell reference in Excel?

Options:



| & AASI15
» % AA15S

s % $Y158

Question Number : 43 Question Id : 9735971204 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
=T 7 @ w9 o vvde # a7 g a9 T2 22
Options:

. v AAS15

4 % HP15#

Question Number : 44 Question Id : 9735971205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The value of the Excel formula =POWER(2, 10) is:

Options:
1 ® 12

o> ® 20
> % 100

4« 1024

Question Number : 44 Question Id : 9735971205 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TFHE HEHET =POWER(2, 10) T &A1 g

Options:

1 % 12

- ® 20



2 = 100

L v 1024

Question Number : 45 Question Id : 9735971206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The value of the Excel expression =2048/2"10-10/5 is:

Options:
1.+ 0

> B -5
3 % 1024

4 % 11.25

Question Number : 45 Question Id : 9735971206 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

TFHeT TARIOT =2048/2*10-10/5 FT AT g

Options:
1 v 0

o ® -5
2 % 1024

4 % 11.25

Question Number : 46 Question Id : 9735971207 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) The order of worksheets in an Excel workbook is fixed and cannot be changed.
1) An Excel workbook may have more than three worksheets.

Options:
, = I-False II -False
> % 1-Tre, TI- False

= ® I-True, Il - True



4 « 1-False, II - True

Question Number : 46 Question Id : 9735971207 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Hcd 4T HHcO hafd ddisi|

) TEFHS FHgF H IR F FA IF AT ¢ IR FH aGN ALl ST HehAT|
) T THgw F S F smEr TRl g wear B

Options:
;x| - FE, |l - AT

o |- T, Il - 30T
s w |-, Il - F@ew
L v |-\, |l - T

Question Number : 47 Question Id : 9735971208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Chrome is a freeware web browser developed by:
Options:

, % Apple Inc.

>  Google Inc.

5 % Microsoft Inc.

4 » Facebook Corporation

Question Number : 47 Question Id : 9735971208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
FIH TF HEIT 3T FEW & A =R Fasfae o o 3
Options:

| = T 2% (Apple Inc.)

o @t $0 (Google Inc.)



, « HTSHEGE 5% (Microsoft Inc.)

i W Faiere (Facebook Corporation)

Question Number : 48 Question Id : 9735971209 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Chrome web browser was first released in:
Options:

1 ® 2007

5> 2008
s % 2009

4 % 2010

Question Number : 48 Question Id : 9735971209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

HIH AT FIA Tgal I $F I F I TFar w o
Options:

. % 2007
. 2008
- = 2009

4 % 2010

Question Number : 49 Question Id : 9735971210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is an alternate name to visit different websites on the World Wide Web?

Options:
, % Netexploring

-  Netsurfing

5 % Wweb crawling

4 % Web parsing



Question Number : 49 Question Id : 9735971210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ao # @ FiF g2 gz 39 W Bffes JegEed W I F1 v awfoas ATH 27

Options:

| % AT TFHCANLIT

Question Number : 50 Question Id : 9735971211 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In a webpage. link created for a picture or a video is called:

Options:
, « Hypermedia

> % Connection

- u Edge

4 % Visual link

Question Number : 50 Question Id : 9735971211 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ey S99 A, a5 a1 9 F v s37v v F F FEr Far g

Options:

l.ﬁ"'gl‘E’ SUER)

5 % el

3_&3@

4%;51%3;343%?:

Question Number : 51 Question Id : 9735971212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



State whether True or False.

I) Powerful computers hosting websites are called web servers.
1I) To connect to a Wi-Fi LAN, a computer should have a wireless device.

Options:
1 & I-Tme, II-True

5 % 1-Tme, II- False
5 % 1-False II - True

4 % 1-False II - False

Question Number : 51 Question Id : 9735971212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T I7 T FYd T30

) efeFaener et i 39EEcH gIfEeT X 8, 37¢ 99 Hax FHal AT g
) IS-FTF o F FFe A F [T, FO H Id 295 g arevl

Options:

Lo | -TT, Il - T
o w |-, Il - 3T
o w | - 30T, |l - @
, ow | - ¥EE, Il - 3T

Question Number : 52 Question Id : 9735971213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Match the following.

SET-1 SET-2
I) OSImodel A) 4 lavers
II) TCP/IP model B) Hyvpertext
IIT) Hyperlink C) 7 lavers

Options:
. % I-B,II-AII-C

, % [-B.II-C,II-A



2w [-AII-C.II-B

L » 1-C.II-ATI-B

Question Number : 52 Question Id : 9735971213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

ftaieT &1 B F:I
He-1 Fz-2
) HTHEITS (OS|) AT A) 4 oTF

Iy ErdrdzmEdr (TCP/IP) ATse B) gSURETEE
1) grsafoes C) 7 3w

Options:
2 l1-B I1-All-C
, w1 -B I1-C, Il -A
s l-ANl-Cll-B
swrd =8 A Bl - B
READING COMPREEHERMSTONM
Section Id : 973597169
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 1
Number of Questionsto be attempted: 1
Section Marks: 5
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 973597169
Question Shuffling Allowed : Yes

Question Id : 9735971214 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Juestion Label | Comprehension



Read the following passage and answer the questions based on it.

It 1s very important that at least an hour or preferably two hours,
immediately preceding bedtime should be spent in peaceful and
relaxing activities. When we are excited or involved in physical
activity the adrenal gland releases a substance called adrenaline, which
helps us to cope with difficult situations. It keeps a person awake.

Adrenaline, once released. cannot be called back. It takes a couple of
hours to bring its level down. What it means in practical terms is to
avoid books and movies with horror plots or loud and fast music near
bedtime. Even long and engaging phone calls should be avoided. Also.
avoid taking too much of fluids close to bedtime to avoid the need for
getting up in the middle of the night for emptying the bladder.
However. a cup of hot milk or herbal tea close to bedtime facilitates
sleep. After the drink, brush your teeth. wash vour feet. empty the
bladder. and settle down with a pleasant book. some soothing music.
or a peaceful TV programme. Some people find a warm water bath a
helpful bedtime ritual. Among the yogic practices, alternate nostril
breathing promotes a particularly peaceful feeling which is a good
preparation for falling asleep.

By now you might be cursing me for creating a romantic picture of the
hour before bedtime. You might be thinking ‘It is easy for him to write
all this. What does he know of my life with two telephones ringing and
a baby wailing simultaneously near bedtime’? The reason why this
rather unrealistic picture has been painted is that unless we know the
ideal, we cannot even move towards it. Secondly, if a person has
genuine difficulty in falling asleep, he should be prepared to put in
some efforts to create conditions conducive to sleep. Finally, for
falling asleep, what matters more than any bedtime ritual is probably
the combination of hard work and a clear conscience.

Sub questions

Question Number : 53 Question Id : 9735971215 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

According to the author, which of the following
activities should a person engage in, about two
hours preceding bedtime?

Options:

, % Listening to loud music.

-~ » Aggressive activities.

5 % Watching a horror movie.

4 « Peaceful and relaxing activities.



Question Number : 54 Question Id : 9735971216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Adrenaline is released due to

Options:

, « excitement and strenuous physical activities

> w relaxing activities
- » drinking a cup of hot milk

4 w peaceful activities

Question Number : 55 Question Id : 9735971217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

It takes to bring down the level of
adrenaline.

Options:

, w couple of days

> of couple of hours
5 % couple of weeks

4 % an hour

Question Number : 56 Question Id : 9735971218 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following activities should be
avoided before bedtime?
Options:
, « Taking too much of fluids

-~ % Having a warm water bath

- % Practicing alternate nose breathing

4, » Listening to soothing music

Question Number : 57 Question Id : 9735971219 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

Read the following activities carefully and choose
the option which depicts the correct order of these
as they appear in the passage.

Wash vour feet.

Drink a cup of hot milk or herbal tea.
Brush your teeth.

Settle down with a pleasant book.
Empty the bladder.

e e

T i

Options:
, % 45312

, % 15423
2 % 5.1,2.34

oo 23154

Question Id : 9735971214 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Cuesticon Label | Comprehiension
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Sub questions

Question Number : 53 Question Id : 9735971215 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

oEF F U, HiA H AT & U Igel
Tafefaa 7 ¥ #ig oOr afafafear &= r
TAET?

Options:
= S s # eafe wehd gAa

5w MRIES QTS|
- x Saer fhed @

, o AT R HRIAET afafate|

Question Number : 54 Question Id : 9735971216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TRATTEA & FHILOT A FT 2

Options:
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Question Number : 55 Question Id : 9735971217 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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FT GHT 90T £l

Options:

FG &
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5 % o gFd

4 % T T

Question Number : 56 Question Id : 9735971218 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T ¥ 95 afaeg § ¥ &9 @
Ifarafaat o s==r =fge?

Options:

1_@;3@?34‘@3:?4?%9&%
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4 ® 3 ‘ 2

Question Number : 57 Question Id : 9735971219 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
et st & e &
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2. 7 Y TT g9 AT F Teh T G|
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Options:
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QUANTITATIVE AFTITUDE

Section Id : 973597170

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 973597170
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 9735971220 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What will come in place of the question mark (?) in the following number series?

11, 27.63,7
Options:
1 ® 06
5 % 118
z ® 09

i 127

Question Number : 58 Question Id : 9735971220 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AT aa TEaT S@er § YeARES (?) & TUH 9T FT HT?
% 11 2%, 63, 7

Options:

1 ® 96
. = 118
o ® 99‘

4 o 127

Question Number : 59 Question Id : 9735971221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



A student scores 55% marks in & papers of 100 marks each. He scores 15%: of his total marks in Enalish. How much
toes he score in English?

Options:

1 ® 5N

. 66
3_$3 77

I 44

Question Number : 59 Question Id : 9735971221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

v OTY 8 Fammt & 55% 3w =T & oweies R 100 3 o i T7 3T F FF WA
159% 3/ 9Iod F4ar §1 et #F sua B 3 ueg B

Options:

1 ® 55

> « 66
o ® ??

4 ® 44

Question Number : 60 Question Id : 9735971222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
3 women and 18 children take 2 days to complete a piece of work. How many days will 9 children alone take to
complete the piece of work, if 6 women can alone complete the piece of work in 3 days?

Options:
1 ® 0

Question Number : 60 Question Id : 9735971222 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
3 A e s wsa f o iR S sm wsa #
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Options:



Question Number : 61 Question Id : 9735971223 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A sum of 7.000 is divided among X, ¥, Zin & manmer that the shares of X and Y are in the ratio 2 5 3 and those of Y and
Z are in the ratio 4 ; 5. The share of ¥ is:
Options:

| T2,400
, = < 3,000
2 = 1,600

4 % 2,000

Question Number : 61 Question Id : 9735971223 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

00w XY ZAwm AR T mEr G mmt X Sy s e amm 2 dawy e 2
FRE T ImTT 4 5 RT Y R

Options:

. » T 2,400
, = ¥ 3,000

- % T 1,600

. = 2,000

Question Number : 62 Question Id : 9735971224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

There are 15 boys in a basketball teamn, The average height of the first five bovs 15 170 ¢m, the next five boys is 178 cm
and the Tast fve bovs 2 176 an. What is the average height of all of the 15 bays?

Options:

1 ® 17580 cm



> % 17490 cm
= % 175.00cm

4 « 174.66 cm

Question Number : 62 Question Id : 9735971224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, % 175.80 &#r
- % 174.90 ¥
5 % 175.00 =

4 v 174.66 T

Question Number : 63 Question Id : 9735971225 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Perimeter of & rhombus 15 180 cm and its shorter disgonal 13 34 cm. A parallelogrem of height 31 ¢m is constructed by
talcing a longer diagonal of thombus as its base, Find the area of parallelogram.

Options:

| % 2200 cm?
5 % 2110 em?
3 « 2232 cm?

4 % 2310 cm?

Question Number : 63 Question Id : 9735971225 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
UF BESPES F AT 180 FA 7y o FEOT 54 WA 3 mEEgye ¥ 9 RE0 &1 9uR A9 g
31 GHT T 1 UF HAAT SqEe aAd T g1 FAAL Ia o TR AT B

Options:

. % 2200 =T @Y



5 = 2110 97 I
- v 2232 37 gl

4 % 2310 9 A=A
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Number of Questions; 6
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Display Number Panel: Yes
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Question Number : 64 Question Id : 9735971226 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the following gquestion two words are given. These words are related to each other in some way, Another wond is also
miver, Finud out the relationship between the first two words and choose the word from the given alternatives, which
bears the same relationship to the third word, as the first Two bear.

MEUROTIC : TICRONEU PEYCHOTIC @ 7
Options:
, % TICCOHPSY

> % TICOCHPSY
- « TICCHOPSY

4 % TICHCOPSY

Question Number : 64 Question Id : 9735971226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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NEURCTIC : TICRONEU :: PSYCHOTIC : ?



Options:

. % TICCOHPSY
., = TICOCHPSY
- « TICCHOPSY

., = TICHCOPSY

Question Number : 65 Question Id : 9735971227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In a code language. if TEMPLE is coded as 254735, what is the code for CHURCH?

Options:
|« 383938

> % 383338
5 % 382948

4 % 319893

Question Number : 65 Question Id : 9735971227 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

fordr Feemer #, Ify TEMPLE #r 254735 #ifsq far Srar & @ CHURCH &1 #15 &am geme?

Options:

. v 383938
, = 383338
. = 382948

4 % 319893

Question Number : 66 Question Id : 9735971228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Aman starts walking from home to reach office. He walks 10 m cast and tumned left and walks 5 m. Then he turns right
and walks 4 m and again tums right and walks 5 m. Then he tumns right and walks 4 m. How far is Aman from his
starting point?
Options:

1 % 8m



> % Tm
z o 6Hm
4 % 5m

Note: For this question, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

Question Number : 66 Question Id : 9735971228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 ® Bﬁa
> ® 7ﬁ|’c‘.T

4 8 5%

Note: For thisquestion, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 67 Question Id : 9735971229 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Pointing to an old man, Kunal said. “His son is my son’s uncle.” How is the old man related to Kunal?

Options:
1 % Brother

> % Uncle
5 o Father

4 % Grandfather

Question Number : 67 Question Id : 9735971229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 68 Question Id : 9735971230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Stiudy the following amrangement carefidly snd amswer the question based on il

CEBACDECDACEEBREDCABADACEDUEATVEDET

If all the alphabets of the series are written in the reverse order, then which of the following will be the 5% to the right of
the 6 from the lefl end of the serias?

Options:

1 ® E

Question Number : 68 Question Id : 9735971230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1%-$E
2%-38
3 % D

4 ¢ A

Question Number : 69 Question Id : 9735971231 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



A statement followed by two conclusions is given.

Select a conclusion that follows from the statement, assuming everything in the statement to be true.

Statement: A= B<C=D.P=<C=<Q

Conclusion:
I. A=Q
II. P<D
Options:
, w Only conclusion I follows

> of Only conclusion IT follows

= % Either conclusion I or II follows

4 % DBoth conclusion I and II follows

Question Number : 69 Question Id : 9735971231 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Section Number : 5



Section type: Online
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Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
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Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 9735971232 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where is the headquarters of Amnesty International located?

Options:
1 # New York

> « London
- % Paris

4 % Geneva

Question Number : 70 Question Id : 9735971232 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
TR ST 1 HEATOT el [eud g7
Options:
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Question Number : 71 Question Id : 9735971233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When is ‘Fundamental Duties Day’ observed in India?

Options:



| « January e

. % February 3rd

> % March 3™

4 % October 3

Question Number : 71 Question Id : 9735971233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 72 Question Id : 9735971234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Tirupati hosted the Indian Science Congress in January 2017.

Options:
; = 100%®

> « 104fh

3 % o7

4 % 89th

Question Number : 72 Question Id : 9735971234 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, % 1009




5 » 1049
2 % 979

. % 899

Question Number : 73 Question Id : 9735971235 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘Who is the present chairman of UPSC (Union Public Service Commission)?

Options:
, « David R Syiemlieh

» » Deepak Gupta
= # Subir Dutta

4 % Mata Prasad

Question Number : 73 Question Id : 9735971235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TRTHH (T Flle AT ANT) F TIA FETET AT g7

Options:
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Question Number : 74 Question Id : 9735971236 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following teams won the 2017 Indian Premier League (IPL)?

Options:
1 % Delhi Daredevils

> « Mumbai Indians



5 » QGujarat Lions

4 » Sunrisers Hyderabad

Question Number : 74 Question Id : 9735971236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 75 Question Id : 9735971237 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Who is the author of the book ‘No Full Stops in India’?
Options:

, w» Shyam Lal

-~ % E.M. Forster

-  Mark Tully

, % Rajmohan Gandhi

Question Number : 75 Question Id : 9735971237 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Break time: 1
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Group Marks: 0

English Tvping Test

Section Id : 973597173

Section Number : 1

Section type: Typing Test

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 0

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 973597173
Question Shuffling Allowed : No

Question Number : 76 Question Id : 9735971238 Question Type: TYPING TEST Display Question Number : Yes
Wornen's History Month is an annual declared month that is traditionally held in March, but the study of
woITen's history is waluable all twealve months of the year. Wormen have overcorme daunting odds to succeed
and excel in all areas of human endeavor, including science, manufacturing, athletics, business, and
exploration.
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Revisit allowed for view? : No
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Break time: 0
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Section Id : 973597174

Section Number : 1

Section type: Typing Test
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Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 0

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
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Question Number : 77 Question Id : 9735971239 Question Type: TYPING TEST Display Question Number : Yes

Here is the big question for Andy Rubin who is widely known as the father of Android on the next big thing.
The answer inl part is that his new company is annourncing an entire ecosystern of products that will work
together that is an intelligent assistant device for you home, a 260 camera and of course phone. That last one
runs Android which is what you would expect from any new phone maker. The company he started to make all
this is called Essential. In a blog post explaining why it exists Rubin tells a typical founder story of going out
for the night with a friend, talking about the state of technology and how to fix it. Funny thing though is that
one of the problerns he sees with the state of tech today involves the G5 he helped create, Android. He told For
all the good Android has done to help bring technology to rearly everyone it has also helped create this weird
new world where people are forced to fight with the very technology that was supposed to simplify their lives.
Rubin new phone that is the Essential Fhone is of course based on that very operating systerrl. But it is
probably safe to assume that it will either try to simplify Android somehow or that it is just a stopgap until it's
viable for Essential to ship a phone ranning its other systerr, Ambient O5. Cr maybe both or neither. We do
not know yet whether the Essential phone or Ambient OS will mean less fighting with technology or whether
Rubin is planning on building mere on top of Android or supplanting it. What we can say is Rubin has some
core principles for his company that would make the two billion device Android ecosysterm a lot better. Here
are a few of his points he further stated. First is that Devices are vour personal property. He would not force
vou to hawve anything on them you do not want to have. Devices should not becorme outdated every year. They
should ewolve with wvou. Those principles all make sense bat they have also been damnably hard to live up to
inn a world where carriers riot only hold back updates but also enmesh thernselyves into the very operating
systermns of the phones they sell. Even powerhouses like Samsung struggle to ship their phones without carrier
software loaded on thern. Flenty of Android makers have shipped clean unlocked phones without extra
crapware on them and promising prompt updates. Most of thermn have languished in obscurity. But just
Pecause a problerm is hard does not mean it is impossible, We will be watching to see how Essential tackles it
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